PART PART REVISION
SBUD || Name RACK MOUNT CHASSIS No. RM-14295 DATE 5/3/2021
#6-32 SCREW
(4) PLACES DRAWING FOR REFERENCE
STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.
|
B 17.000 B )
B [431.80] '_\ e
/ T #6-32 KEPS NUT
I | S @) ) (4) PLACES
NG L

24.000 23.785 (INSIDE)
[609.60] [604.14]
- 16.820 (INSIDE) o
B [427.23] B
- #10-32 KEPS NUT
(4) PLACES
AT 7
Y D, 1] ( o) 5
N Y #10-32 SCREW
P VIEW N (4) PLACES
3 19.000 -
[482.60]
B 18.328 B B (26) SPACES = 22.750 L 28
h [465.53] a & 156 h [577.85] a [7.14]
- [lgggg] _ [3.9¢] | L 875 TR s 5000 (1) 6.500 859
. 875 [22.23] [101.60] [127.00] [165.10] ( [21.82]
22.23
] - - [TYP.] _l S ° i1
% :.1':? élﬁ::o 6 o o o o q © o o o |lo o o ol o o o o o :_I I
© E i i E © ‘ * AHk—o0 o o o o oo O o ©00 o o000 00 O 000 0 o o ©00 o oLq>i
é;?g] Ei EE ioooooo ©o o o o o o o o o o o o o o ioi
O ﬁ i i ﬁ o i o o o o o o o o o o o o o o o o o o o o ioi
10468 3.000 * ﬁ i i ﬁ 8.000 i o o o o o o o o o o o o o o o o o o o o ioi (]O)EPASES
’ ) g Lo ’ | o o o o o o o o o o o o o o 6 o o o o o :o: = /5
265.89] |76.20 o P 203.20 | Pl
I::l[;]* i::i i:ri I::I ioooooo ©o o o o o o o o ©o o o o o o ioi [222‘25]
O U : : U O : o o o o o o o o o o o o o o o o o o o o ioi
é;?g] Ei iﬁ ioooooo ©o o o o o o o o ©o o o o o o ioi
+ . E.i iﬁo ‘ ]724 éi@}j o o o oo0o0 O o 00 O ©0O0O0 OO O 000 0 o o o00 o c:rq>i
1.484 * /jj C‘#g)l  jiaad ) -, q o o o o |o o o ol o o o |o o o o o o of o @ !
v [87.69] i [44.04]  |I5H . =
* ' 1234 *
468
1.375 - 16.250 /> (31.34] 5.000 (1)| 6.500 = 11.89]
[34.93] [412.75] [127.00] [165.10] '
%‘122]3 s (2) 8.000 7.500
.(%ﬁ X .EtEosé OBLONG FRONT VIEW (4) HOLES 1101.60] [203.20] [190.50]
%4' ]7?5]7 RIGHT SIDE VIEW
SLIDE MOUNTING HOLES
NOTE:

(1) SLIDE MOUNTING LOCATION FOR AS-5002-A
(2) SLIDE MOUNTING LOCATION FOR AS-5004-A

( [1'1 .90]

MATERIAL:
FRONT PANEL - .125 THK. ALUMINUM

SIDES & REAR PANEL - .090 THK. ALUMINUM

FINISH:
ALL PARTS - NATURAL

UNIT SHIPPED UNASSEMBLED IN KIT FORM WITH ALL

NECESSARY ASSEMBLY HARDWARE
25 LB. EQUIPMENT LOAD RATING

50 LB. EQUIPMENT LOAD RATING WHEN USING OPTIONAL

REAR MOUNTING BRACKET

OPTIONAL ACCESSORIES:
INTERNAL CHASSIS - C-14245
SOLID TOP/BOTTOM COVER - TBC-14254

VENTILATED TOP/BOTTOM COVER - TBC-14264

REAR MOUNTING BRACKET - MB-14273
SLIDES - AS-5002-A OR AS-5004-A
HANDLES - H-9113-B

!

9.53]1
[242.09]

{

BACK VIEW




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Detail View A (2 : 3)
	Detail View B (2 : 3)
	Drawing View8


